35 5/8"7 MAX.
FIXED LITE WIDTH

217 MAX.
D.L.O. WIDTH

145 1/4” MAXIMUM O.A.

35 3/47 MAX.

FRAME WIDTH

PANEL WIDTH

79"
MAX.
D.L.O.
HEIGHT

92 1/16”
MAX.
PANEL
HEIGHT

%

%

/
%

ACTIVE

INACTIVE

36 FROM

PANEL BOTTOM

95 1/2”
MAX.
0.A.

FRAME

HEIGHT

DISTINCTION IS FIBERGLASS GLAZED PATIO DOOR

EXTERIOR VIEW

DESIGN PRESSURE RATING

IMPACT RATING

+30PSF

NONE

TABLE OF CONTENTS

REVISIONS

DESCRIPTION APPROVED

NOTES:

)

2)

NAN

THE PRODUCT SHOWN HEREIN IS DESIGNED AND MANUFACTURED TO
COMPLY WITH REQUIREMENTS OF FLORIDA BUILDING CODE.

WOOD FRAMING OPENING TO BE DESIGNED AND ANCHORED TO
PROPERLY TRANSFER ALL LOADS TO STRUCTURE. WOOD FRAMING
OPENING IS THE RESPONSIBILITY OF THE ARCHITECT OR ENGINEER
OF RECORD.

APPROVED IMPACT PROTECTIVE SYSTEM IS REQUIRED FOR THIS
PRODUCT IN WIND BORNE DEBRIS REGIONS.

UNITS MUST BE GLAZED PER ASTM E1300.

ALLOWABLE STRESS INCREASE OF 1/3 WAS NOT USED IN THE DESIGN
OF THE PRODUCT SHOWN HEREIN. WIND LOAD DURATION FACTOR
Cd=1.6 WAS USED FOR WOOD ANCHOR CALCULATIONS.

SHIM AS REQUIRED AT EACH INSTALLATION ANCHOR WITH LOAD
BEARING SHIM. SHIM WHERE SPACE OF 1/16” OR GREATER

OCCURS. MAXIMUM ALLOWABLE SHIM STACK TO BE 1/47.

FOR ANCHORING INTO 2X BUCK OR WOOD FRAMING USE #10 WOOD

SCREW OF SUFFICIENT LENGTH TO ACHIEVE A 1 3/8" MINIMUM
EMBEDMENT INTO SUBSTRATE. LOCATE ANCHORS AS SHOWN IN
ANCHORING LAYOUT AND INSTALLATION DETAILS.

ALL FASTENERS TO BE CORROSION RESISTANT.

INSTALLATION ANCHOR CAPACITIES FOR PRODUCTS HEREIN ARE BASED
ON SUBSTRATE MATERIAL WITH THE FOLLOWING PROPERTIES:
A. WOOD — G=0.42 MINIMUM SPECIFIC GRAVITY

FRAME JAMB AND HEAD MATERIAL: CO—EXTRUDED PVC FOAM 1
THICK.

FRAME SILL MATERIAL: CO—EXTRUDED PVC FOAM 27 THICK WITH
ALUMINUM CLADDING .063" THICK.

DOOR PANEL AND SIDELITE MATERIAL: .075" THICK FIBERGLASS
SKIN WITH PVC FOAM TOP AND BOTTOM RAILS, AND PVC FOAM
VERTICAL STILES WITH PINE REINFORCEMENTS AND
POLYURETHANE FOAM CORE.

APPROVED CONFIGURATIONS: X, OX, X0, 00, XX, 0X0, XXO,
OXX, 000 AND OXXO. SEE SHEET 2.

HINGE LOCATION: (2) FROM TOP OF PANEL DOWN AT 8" AND
33 1/4" AND (2) FROM BOTTOM OF PANEL UP AT 8 1/27

AND 347

1/2"

Digitally signed by Luis R. Lomas P.E.
Location: 1432 Woodford Rd,
Lewisville, NC 27023

Date: 2009.07.07 12:08:36 -04'00'

YA PLASTICS CORP. USA

8989 NORTH LOOP EAST
HOUSTON, TX 77029

SHEET NO.

DESCRIPTION

DISTINCTION

ELEVATION ~ AND NOTES

ADDITIONAL CONFIGURATIONS AND HARDWARE

IS FIBERGLASS GLAZED PATIO DOOR
WITH AND WITHOUT SIDELITES
OXXO ELEVATION AND NOTES

Ll

ANCHORING LAYOUTS

DWG NO.

Z A »
~, @ 0£0R\0.o.\
{'/‘98/0"' ?.\'\G\\

08-00768

INSTALLATION DETAILS

7,
7 NAL '\
i

SHEET 1 OF 5

DATE 07 /01,/09



REVISIONS
REV DESCRIPTION DATE APPROVED
— 38" MAX. |- 73 3/4” MAX. 73 3/4” MAX.
%
V. Y. 7 Y . HARDWARE SCHEDULE
/ A. 3—POINT LOCK HANDLE ASSEMBLY NINGBO MICOTA LOCKS
B. (4) 4” x 4” BUTT HINGES BY WENZHOU LONGTAI HINGES
95 1/2" C. EXTRUDED ALUMINUM & PVC FOAM ASTRAGAL BY NAN YA PLASTICS
MAFEAMOE'A' y y 7 y 7 D. EXTRUDED ALUMINUM & PVC FOAM MULLION BY NAN YA PLASTICS
HEIGHT 7 ﬂ 7 ~E 7 ﬂ
N\ N\ AN 2 9/16” |-
7 7 % 7 7 Jﬂj L1
ACTIVE ACTIVE FIXED FIXED ACTIVE Q " 1/2" 2"
SINGLE SINGLE W/SIDELITE OR SINGLE W/SIDELITE OR W 7% ) %
EXTERIOR VIEW DOUBLE FIXED DOUBLE FIXED i}
EXTERIOR VIEW EXTERIOR VIEW 5 27/32
INSWING DOOR SILL DETAIL
109 1/2” MAX. 73 7/8" MAX. 109 5/8” MAX.
V. % M PANEL .‘_
Y Z V4 Z V Z #10 x 2 W/Q”N\/
/ / N\ / N\ SMS %
= #9 x 27
95 1/27 % W io\o - O/ SMS
MAX. O.A. y y y |
FRAME p 7 y 7 y 4
HEIGHT 7 ~E 7 ﬂ ;|’ 7 ﬂ l No b
//// A A L //// A 1S \O ||
N\ N\ / N\ / N
FIXED ACTIVE FIXED ACTIVE INACTIVE FIXED ACTIVE INACTIVE
HINGE INSTALLATION DETAIL
SINGLE W/SIDELITES OR DOUBLE DOUBLE W/SIDELITES
TRIPLE FIXED EXTERIOR VIEW EXTERIOR VIEW
EXTERIOR VIEW —
NAN YA PLASTICS CORP. USA \\\\\“R L”f/,,/
8989 NORTH LOOP EAST \1\\\\5\‘%.-'--?4/4"/,/
HOUSTON, TX 77029 SVOeOCENs T2
DISTINCTION IS FIBERGLASS GLAZED PATIO DOOR §*:' 0, 62518 k=
WITH AND WITHOUT SIDELITES = 3 g =
ADDITIONAL CONFIGURATIONS AND HARDWARE =2* STATE OF &=
’;96‘ A ST
NOTE: DRAWN: DWG NO. REV %&é-fOR\Q‘: oc’\'é'\q":
ALL APPROVED CONFIGURATIONS ARE SHOWN AS LEFT HAND TJH 08-00768 - ’//,;9/0;'\:;{_ ?.\“‘\\\\
ACTIVE, RIGHT HAND ACTIVE IS ALSO APPROVED. SAE NTS  |°MF 07,/01/09 ST 5 OF 5 )




REVISIONS
REV ‘ DESCRIPTION ‘ DATE APPROVED
4" MAX. o 47 MAX. | L 4T MAX. |
, . TYP. . TYP. TYP.
47 MAX. — ﬁ ﬂ = 4 MAX. 4”7 MAX. —— ‘« j | | 4" mAX 4”7 MAX. = |=— ETEPTRVIN
‘ | T‘t | ‘ | F | | (FL | ‘ | T‘t | | ? | | T‘t | ‘ .
3momax. FoF ] | 3momax. b i 3" omax. b i
TYP. 28”7 MAX. TYP. 28” MAX. TYP. 28” MAX.
0.C. TYP. 0.C. TYP. 0.C. TYP.
R i b i R i
37 MAX. 3" MAX. 37 MAX.
ﬁn @ Tj” MAX . ‘_7 @ (h/— ”» ﬁ,, @ i\t @
57 MAX. — - 57 MAX. ' 5” MAX. ™ 5 MAX 57 MAX. = |=—, , ,
SINGLE e 5" MAX. L 5" MAX. o — = 5 MAX.
SINGLE W/SIDELITE, DOUBLE . TYP.
47 MAX. 47 MAX. 47 MAX. )| OR DOUBLE FIXED SINGLE W/SIDELITES, DOUBLE W/SIDELITE
x| [ TP j = e W - TP ‘ OR TRIPLE FIXED
—] — 47 max.
¢ 1 FL l l (F; 1 [l F‘ L 1 ? ]
3momax. FF ] i
TYP. 28" MAX.
0.C. TYP.
R i
§ . NAN YA PLASTICS CORP. USA awwtig,
g R- Lo/,
8989 NORTH LOOP EAST R\ 4/4/,/
HOUSTON, TX 77029 SVOeOCENs T2
3 MAX. =, - =
DISTINCTION IS FIBERGLASS GLAZED PATIO DOOR =%+ Ao, 6514 %=
RGN | | | ‘ . WITH AND WITHOUT SIDELITES = % 4 =
T T T I T f T f ANCHORING LAYOUTS =R°"% STATE OF ‘=
| ; ; ; L. =% STATE OF (&S
5" MAX. L 5" MAX. 5" MAX. | | = o MAX. DRAWN: DWG NO. REv ’/,‘o-,.(og\q";o@ég
5" MAX. —| |~ TYP. TYP. TYP. TJH 08-00768 ~ ////‘/?‘9/05.';{. ?.\\\\\\
DOUBLE W/SIDELITES SCAE NTS  [94E 07 /01 /09 SHEET 2 OF 5 s




1

2X BUCK/WOOD FRAMING
BY OTHERS, 2X BUCK TO
BE PROPERLY SECURED

!

alj %
]

< e e
1/4”7 MAX.

SHIM

1 3/8” MIN.
EMBEDMENT
S &
BACKER ROD
AND APPROVED N
SEALANT BY ffﬂi N
OTHERS .

#10 WOOD SCREW

#10 WOOD
SCREW

SILL TO BE SET
IN BED OF
APPROVED

SEALANT

EXTERIOR

-
co s HEAD KEEPER

HEAD KEEPER IS ATTACHED WITH
(2) #8 x 3" WOOD SCREWS

INTERIOR

“*////////7(2) #8 x 3" WOOD SCREWS

£ :

/

]
]
{
\
\

I
3/8” MIN.
EMBEDMENT
1

REVISIONS

REV DESCRIPTION DATE APPROVED

SILL KEEPER
/ SILL KEEPER IS ATTACHED WITH

1/4" MAX. __| 1 3/8” MIN.
SHIM EMBEDMENT
HINGE SCREWS SEE VT,. D
HINGE DETAIL SHT. 2 / Z
INTERIOR ;
% ~— #10 WOOD
EXTERIOR ﬁL ﬂ SCREW
=i ‘ \\¥72x BUCK/WOOD FRAMING
O BY OTHERS, 2X BUCK TO
- BE PROPERLY SECURED
-~

BACKER ROD
AND APPROVED
SEALANT BY OTHERS

HORIZONTAL CROSS SECTION
HINGE JAMB DETAIL
2X BUCK/WOOD FRAMING INSTALLATION

VERTICAL CROSS SECTION

DOOR SHOWN, SIDELITE SIMILAR
2X BUCK/WOOD FRAMING INSTALLATION

NAN YA PLASTICS CORP. USA QW
8989 NORTH LOOP EAST NS Y57,
HOUSTON, TX 77029 SVOeOCENs T2
) . -
DISTINCTION IS FIBERGLASS GLAZED PATIO DOOR [|=%+ Ko 62514 -*=
WITH AND WITHOUT SIDELITES = o ity (4 2. =
INSTALLATION DETAILS =2% STATE OF ‘&=
;9‘\0 p o"‘f‘::'
DRAWN: DWG NO. REV ///(%:-£OR\“.‘: oc,\'é's?
TUH 08-00768 3 /’///;9/05.:;&{_ N
SCAE NTS  |PATE 07/01/09  |SHET4 OF 5 11w




REVISIONS

REV DESCRIPTION DATE APPROVED

1/47 MAX. | 1 3/8" MIN,
SHIM EMBEDMENT
INTERIOR ) ?

I

EXTERIOR t G

‘fﬂ'

AN
#10 WOOD SCREW 1 3/8" MIN. - 1/4" MAX.
EMBEDMENT SHIM
C j F 1| \ F S W INTERIOR
BACKER ROD —__| 5 ‘ 2X BUCK,/WOOD FRAMING Sas ,
AND APPROVED Q BY OTHERS, 2X BUCK TO g 7 =
SEALANT BY OTHERS ][ -~ / / BE PROPERLY SECURED
HORIZONTAL CROSS SECTION L ~— M
STRIKE JAMB DETAIL 2 |
2X BUCK/WOOD FRAMING INSTALLATION #10 WOOD SCREW & w
2X BUCK/WOOD FRAMING —
BY OTHERS, 2X BUCK TO ‘ | =]
BE PROPERLY SECURED \ \ O
) BACKER ROD
INTERIOR |-— 5 13/32" INTERIOR - 5 13/32" — AND APPROVED HORIZONTAL CROSS SECTION
SEALANT BY OTHERS SIDELITE JAMB DETAIL
2X BUCK/WOOD FRAMING INSTALLATION
/
s KEEPER — 2~ <z
KEEPER —<” 4 ” ey 5 wooo NAN YA PLASTICS CORP. USA st
#8 x 3" WOOD SCREW 8989 NORTH LOOP EAST \1\\\\5\‘%.-'--?4/4’/,/
SCREW HOUSTON, TX 77029 SVOeOCENs T2
DISTINCTION IS FIBERGLASS GLAZED PATIO DOOR ::f_-:*'. 0 51 .'*::?:
EXTERIOR \ EXTERIOR \ WITH AND WITHOUT SIDELITES Eﬂ%ﬁ ;. =
FRAME HEAD FRAME SILL INSTALLATION DETAILS =R°" STATE OF _-Qg?,:g
- S . ~
HEAD KEEPER DETAIL SILL KEEPER DETAIL DRATI WG o. | s LORRE NS
TJH 08-00768 - ////8IOI;J;'¥.L g\\\\\\
SCALE NTS DATE 07 /01 /09 SHEET5 OF 5 i

= |



		2009-07-07T12:08:36-0400
	1432 Woodford Rd, Lewisville, NC 27023
	Luis R. Lomas P.E.




